CHAPTER 8
INVENTORIES

  problems

Prob. 8–1A

1.

	Drift Boats

	
	Purchases
	Cost of Merchandise Sold
	Inventory

	
Date
	
Quantity
	Unit
Cost
	Total
Cost
	
Quantity
	Unit
Cost
	Total
Cost
	
Quantity
	Unit
Cost
	Total
Cost

	Aug.
1
	
	
	
	
	
	
	
22
	
2,200
	
48,400

	
8
	
18
	
2,250
	
40,500
	
	
	
	
22


18
	
2,200


2,250
	
48,400


40,500

	
11
	
	
	
	
12
	
2,200
	
26,400
	
10


18
	
2,200


2,250
	
22,000


40,500

	
22
	
	
	
	
10


1
	
2,200


2,250
	
22,000


2,250
	

17
	

2,250
	

38,250

	Sept.
3
	
16
	
2,300
	
36,800
	
	
	
	
17


16
	
2,250


2,300
	
38,250


36,800

	
10
	
	
	
	
10
	
2,250
	
22,500
	
7


16
	
2,250


2,300
	
15,750


36,800

	
21
	
	
	
	
5
	
2,250
	
11,250
	
2


16
	
2,250


2,300
	
4,500


36,800

	
30
	
20
	
2,350
	
47,000
	
	
	
	
2


16


20
	
2,250


2,300


2,350
	
4,500


36,800


47,000



Continued

Prob. 8–1A
Concluded

	Drift Boats

	
	Purchases
	Cost of Merchandise Sold
	Inventory

	
Date
	
Quantity
	Unit
Cost
	Total
Cost
	
Quantity
	Unit
Cost
	Total
Cost
	
Quantity
	Unit
Cost
	Total
Cost

	Oct.
5
	
	
	
	
2


16


2
	
2,250


2,300


2,350
	
4,500


36,800


4,700
	18
	2,350
	  42,300

	
13
	
	
	
	
12
	
2,350
	
28,200
	
6
	
2,350
	
14,100

	
21
	
30
	
2,400
	
72,000
	
	
	
	
6


30
	
2,350


2,400
	
14,100


72,000

	
28
	
	
	
	
6

9
	
2,350


2,400
	
14,100


21,600
	

21
	

2,400
	

50,400



Total cost of merchandise sold

$194,300

2.
Accounts Receivable

434,400



Sales


434,400


Cost of Merchandise Sold

194,300



Merchandise Inventory


194,300

3.
$240,100 ($434,400 – $194,300)

4.
$50,400

Prob. 8–2A

1.

	Drift Boats

	
	Purchases
	Cost of Merchandise Sold
	Inventory

	
Date
	
Quantity
	Unit
Cost
	Total
Cost
	
Quantity
	Unit
Cost
	Total
Cost
	
Quantity
	Unit
Cost
	Total
Cost

	Aug.
1
	
	
	
	
	
	
	
22
	
2,200
	
48,400

	
8
	
18
	
2,250
	
40,500
	
	
	
	
22

18
	
2,200


2,250
	
48,400


40,500

	
11
	
	
	
	
12
	
2,250
	
27,000
	
22

6
	
2,200


2,250
	
48,400


13,500

	
22
	
	
	
	
6


5
	
2,250


2,200
	
13,500


11,000
	17
	2,200
	   37,400

	Sept.
3
	
16
	
2,300
	
36,800
	
	
	
	
17

16
	
2,200


2,300
	
37,400


36,800

	
10
	
	
	
	
10
	
2,300
	
23,000
	
17

6
	
2,200


2,300
	
37,400


13,800

	
21
	
	
	
	
5
	
2,300
	
11,500
	
17

1
	
2,200


2,300
	
37,400


2,300

	
30
	
20
	
2,350
	
47,000
	
	
	
	
17

1

20
	
2,200


2,300


2,350
	
37,400


2,300


47,000





Continued

Prob. 8–2A
Concluded

	Drift Boats

	
	Purchases
	Cost of Merchandise Sold
	Inventory

	
Date
	
Quantity
	Unit
Cost
	Total
Cost
	
Quantity
	Unit
Cost
	Total
Cost
	
Quantity
	Unit
Cost
	Total
Cost

	Oct.
5
	
	
	
	
20
	
2,350
	
47,000
	
17


1
	
2,200


2,300
	
37,400


2,300

	
13
	
	
	
	
1

11
	
2,300


2,200
	
2,300


24,200
	6
	2,200
	13,200

	
21
	
30
	
2,400
	
72,000
	
	
	
	
6


30
	
2,200


2,400
	
13,200


72,000

	
28
	
	
	
	
15
	
2,400
	
36,000
	
6


15
	
2,200


2,400
	
13,200


36,000


Total cost of merchandise sold

$195,500
2.
Total sales

$434,400


Total cost of merchandise sold 


195,500

Gross profit 

$238,900

3.
$49,200 ($13,200 + $36,000)

Prob. 8–3A

1.
First-In, First-Out Method


Model
Quantity
Unit Cost
Total Cost


231T
4
$225
$
900



2
213
426


673W
2
535
1,070



2
530
1,060


193Q
6
542
3,252



1
549
549


144Z
6
225
1,350



5
222
1,110


160M
4
317
1,268



1
316
316


180X
2
232

464


971K
6
156

936

Total

$
12,701
2.
Last-In, First-Out Method


Model
Quantity
Unit Cost
Total Cost


231T
3
$208
$
624



3
212
636


673W
2
520
1,040



2
527
1,054


193Q
6
520
3,120



1
531
531


144Z
9
213
1,917



2
215
430


160M
5
305
1,525


180X
2
222

444


971K
4
140

560



2
144

288

Total

$
12,169

Prob. 8–3A
Concluded

3.
Average Cost Method


Model
Quantity
Unit Cost
Total Cost


231T
6
$215*
$
1,290


673W
4
528
2,112


193Q
7
534
3,738


144Z
11
218
2,398


160M
5
311
1,555


180X
2
227

454


971K
6
148

888

Total

$
12,435

* $215 = [(3 × $208) + (3 × $212) + (5 × $213) + (4 × $225)] ÷ (3 + 3 + 5 + 4)

4.
a.
During periods of rising prices, the lifo method will result in a lesser amount of inventory, a greater amount of the cost of merchandise sold, and a lesser amount of net income than the other two methods. For Henning Appliances, the lifo method would be preferred for the current year, since it would result in a lesser amount of income tax.


b.
During periods of declining prices, the fifo method will result in a lesser amount of net income and would be preferred for income tax purposes.

Ex. 8–15




Unit
Unit


Total




Inventory
Cost
Market


Lower


Commodity
Quantity
Price
Price
Cost
Market
of C or M

M76

8
$150
$160
$1,200
$1,280
$1,200

T53

20
75
70
1,500
1,400
1,400

A19

10
275
260
2,750
2,600
2,600

J81

15
50
40
750
600
600

K10

25
101
105

2,525

2,625

2,525

Total




$8,725

$8,505
$8,325
Ex. 8–20

a.
Apple: 147.8 {$4,139,000,000 ÷ [($45,000,000 + $11,000,000) ÷ 2]}


American Greetings: 3.1 {$881,771,000 ÷ [($278,807,000 + $290,804,000) ÷ 2]}

b.
Lower. Although American Greetings’ business is seasonal in nature, with most of its revenue generated during the major holidays, much of its nonholiday inventory may turn over very slowly. Apple, on the other hand, turns its inventory over very fast because it maintains a low inventory, which allows it to respond quickly to customer needs. Additionally, Apple’s computer products can quickly become obsolete, so it cannot risk building large inventories.

  Ex. 8–21

a.
Number of days’ sales in inventory = 
[image: image1.wmf]sold/365

 

goods

 

of

 

Cost

period

 

of

 

end

 

Inventory,



Albertson’s, 
[image: image2.wmf]5

$25,242/36

$2,973

 = 43 days


Kroger, 
[image: image3.wmf]5

$37,810/36

$4,175

 = 40 days


Safeway, 
[image: image4.wmf]5

$22,303/36

$2,558

 = 42 days


Inventory turnover = 
[image: image5.wmf]inventory

 

Average

sold

 

goods

 

of

 

Cost



Albertson’s, 
[image: image6.wmf]$3,196)/2

($2,973

$25,242

+

 = 8.2


Kroger, 
[image: image7.wmf]$4,178)/2

($4,175

$37,810

+

 = 9.1


Safeway, 
[image: image8.wmf]$2,437)/2

($2,558

$22,303

+

 = 8.9

b.
The number of days’ sale in inventory and inventory turnover ratios are consistent. Albertson’s has slightly more inventory than does Safeway. Kroger has relatively less inventory (2.3 days) than does Albertson’s and Kroger.

Ex. 8–21
Concluded

c.
If Albertson’s matched Kroger’s days’ sales in inventory, then its hypothetical ending inventory would be determined as follows,


Number of days’ sales in inventory = 
[image: image9.wmf]sold/365

 

goods

 

of

 

Cost

period

 

of

 

end

 

Inventory,



40 days = 
[image: image10.wmf]5

$25,242/36

X

 


X = 40 ( ($25,242/365)


X = $2,766


Thus, the additional cash flow that would have been generated is the difference between the actual ending inventory and the hypothetical ending inventory, as follows:


Actual ending inventory

$
2,973 million


Hypothetical ending inventory


2,766


Positive cash flow potential

$
207 million


That is, a lower ending inventory amount would have required less cash than actually was required.
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